
Pr (z) = Vr (zEr − Ar ) − 1W T
r (zEr − A)

(( σ + ε)E− A) − 1= ( σE− A) − 1− ε(σE− A) − 1E(σE− A) − 1+ O(ε 2)
(( σ + ε)Er − Ar ) − 1= ( σEr − Ar ) − 1− ε(σEr − Ar ) − 1Er (σEr − Ar ) − 1+ O(ε 2)

c TH(σ + ε)b− c THr (σ + ε)b= O(ε 2)

Er = W T
r EVr , Ar = W T

r AVr + C TDrB ,
Br = W T

r B− C TDr Cr = CVr − DrB

H− Hr H 2 = min
dim(Hr ) =

Hr : stable

Hr (− µ ) = Hr (− λ̂ ) + ( µ − λ̂ )Hr (− λ̂ )
+( µ − λ̂ ) 2Cr (− λ̂ Er − Ar ) − 1Er (− µEr − Ar ) − 1Er (− λ̂ Er − Ar ) − 1Br

y(s) = [C 0] s 2M+ ( ρ(s) + η ) K D
D T 0

− 1 B
0 u(s) = H (s) u(s)

K (s, p) = K [0](s) + a1 (p) K [1](s) + . . . + aν (p)
B (s, p) = B [0](s) + b1 (p) B [1](s) + . . . + bν (p) B

C(s, p) = C [0](s) + c1 (p) C [1](s) + . . . + cν (p) C [ν ](s)
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